1. BHDXEE

(2) Ep26FE3HE] REME(HH)

(i< 5 . %)

% /E;q Eﬁ /E‘;q SN = P Y ‘jz D/_(/ﬁ;q%@\” P Y ‘jz
(25.4~26.3) (24.4~25.3) HABGR | SRR (26.4~27.3) H RS
e = =l (100.0) 9,391} (100.0) 8,850 541 6.1] (100.0) 9,400 0.1
weooo¥ F M (7.3) 631] (5.6) 499 182 36.3] (6.9) 650 A4.6
o w A M (14 692] (6.0) 526 166 31.5] (7.3) 690 A0.3
T TR | R WEH0)) 471 (4.2) 372 99 26.6] (5.3) 500 6.2
F G T S < 322 362 A40[ AT11.0 400 24.2
B OE 343 374 A31l 8.3 360 4.8
() )P EEeRTdhs,
2. 7 SR (HA7 B | %)
S| EIE: A WA T8
(25.4~26.3) (24.4~25.3) (26.4~217.3) HAVR R
AKH EE AKH EE AR = AR ElE
/T Nax sz —7) 3,810 43.6 3,697 45.1 113 3.0 3,153 35.9 A 17.2
a D il 4,930 56.4 4,506 54.9 424 9.4 5,632 64.1 14.2
2t 8,740[93.1) 100.0 8,203[92.7)  100.0 537 6.5 8,785(93.5 100.0 0.5
- Na % 7o — 539 83.0 529 81.8 10 2.1 500 81.4 A 7.2
a D fil} 111 17.0 117 18.2 A6l A 5.1 114 18.6 2.7
2t 65016.9  100.0 646/7.3  100.0 4 0.6 614/6.5 100.0 A 5.5
aar 9.391jaoon ] 885000 -] 541]  6.1] 9400[u00 - 0.1
FE) ( )NIFAST, FEOHER LR THS,
3. EffER \ ‘ (BT (&)
B PEDER B - & PE DT
BB 1 1Y GIE] HADRK BE EE] i HE IRk
VBN PE 4,123 3,645 478| A& 3,074 2,785 289
Bl TH 4 1,667 1,261 4068 B fF B 1,252 1,187 65
g # E M 1,522 1,566 A44|fE A 4 17 17 0
7= 78 W & PE 315 307 gk ¥ #H H 674 599 75
a %) il 617 510 1074 A 4 212 151 61
B S el Y 4 299 280 19
[ 7 P 2,641 2,494 147|% » fit 619 549 70
H E E & g 1,623 1,670 ANAT
FLI A E & g 43 36 7 e 3,689 3,354 335
B &2 oo & g 974 787 187|& A 4 264 264 0
< S NI | IS 200 200 0
7| =~ ] I 3,274 2,940 334
H [ SV A 54 A 54 0
FE Ol = B 4 5 3 2
&t 6,764 6,139 625 &t 6,764 6,139 625




